

SOME PROPERTIES OF MULTI L – FUZZY COSETS

M. AKILESH

Department of Mathematics,
SRMV College of Arts and Science, Coimbatore-641 020, Tamilnadu, India.

R. MUTHURAJ*

Department of Mathematics,
H.H. The Rajah's College, Pudukkottai-622 001, Tamilnadu, India.

(Received On: 08-03-18; Revised & Accepted On: 07-04-18)

ABSTRACT

We introduce the notion of multi L-fuzzy cosets, pseudo multi L-fuzzy cosets, multi L-fuzzy middle cosets of a subgroup A of a group G and discuss some of its properties.

Keywords: L – fuzzy subgroup, multi L-fuzzy subgroups, L –fuzzy cosets, multi L-fuzzy cosets, multi L-fuzzy normal subgroup, pseudo multi L-fuzzy cosets , multi L- fuzzy middle cosets.

1. INTRODUCTION

Applying the concept of fuzzy sets introduced by Zadeh [12], Rosenfeld [9] defined fuzzy subgroup of a given group and derived some of their properties. The concept of anti – fuzzy subgroup was introduced by Biswas [4]. S.Sabu and T.V.Ramakrishnan [8] introduce the multi-fuzzy sets. Mukherjee and bhattacharya [7] introduced the fuzzy right cosets and fuzzy left cosets of a group. In all these studies, the closed unit interval $[0, 1]$ is taken as the membership lattice.

2. PRELIMINARIES

Throughout this paper G denotes an arbitrary group with “e” is an identity element and L denotes an arbitrary Lattice with least element 0 and greatest element 1. The join and meet operations in L are denoted by \vee and \wedge respectively. A function $A: G \rightarrow L$ is called multi L – fuzzy subset of G.

2.1 Definition [12]: Let X be any nonempty set. A function $A: X \rightarrow [0, 1]$. is called a fuzzy set A on X.

2.2 Definition [12]: Let (G, \cdot) be a group. A fuzzy subset A of G is said to be a fuzzy subgroup (FSG) of G if the following conditions are satisfied:

- i. $A(xy) \geq \min\{A(x), A(y)\}$,
- ii. $A(x^{-1}) = A(x)$, for all x and $y \in G$.

2.3 Definition [7]: Let (G, \cdot) be a group. A fuzzy subgroup A of G is said to be a normal fuzzy subgroup of G if $A(xy) = A(yx)$, for all x and $y \in G$.

2.4 Definition [4]: A fuzzy subset A of G is said to be an anti fuzzy group of G, if for all x, $y \in G$

- i. $A(xy) \leq \max\{A(x), A(y)\}$
- ii. $A(x^{-1}) = A(x)$.

2.5 Definition [10]: Let X be a non-empty set and $L = (L, \leq)$ be a lattice with least element 0 and greatest element 1. A L-fuzzy subset A of X is a function $A: X \rightarrow L$.

2.6 Definition [8]: Let X be a non – empty set. A multi fuzzy set A in X is defined as a set of ordered sequences, $A = \{(x, A_1(x), A_2(x), \dots, A_i(x), \dots) : x \in X\}$, where $A_i: X \rightarrow L$ for all i.

Corresponding Author: R. Muthuraj*

Department of Mathematics, H.H. The Rajah's College, Pudukkottai-622 001, Tamilnadu, India.

2.7 Definition [10]: A multi L-fuzzy subset A of G is called a multi L-fuzzy subgroup (MLFS) of G if for every $x, y \in G$,

- i. $A(xy) \geq A(x) \wedge A(y)$
- ii. $A(x^{-1}) = A(x)$.

2.8 Definition [10]: A multi L-fuzzy subset A of G is called a multi anti L-fuzzy subgroup (MALFS) of G if for every $x, y \in G$,

- i. $A(xy) \leq A(x) \vee A(y)$
- ii. $A(x^{-1}) = A(x)$.

2.9 Definition: Let A be an multi L-fuzzy subgroup of a group and $H = \{x \in G / A(x) = A(e)\}$, then order of A is defined as $O(A) = O(H)$.

2.10 Definition: Let A be a multi L-fuzzy subgroup of a group G, for any $a \in G$, define $(aA)(x) = A(a^{-1}x)$ for all $x \in G$ is called a multi L-fuzzy coset of a multi L-fuzzy group A of the group G determined by the element $a \in G$.

2.11 Definition: Let A be a multi L-fuzzy subgroup of a group G, then for any $a, b \in G$, defined by $(aAb)(x) = A(a^{-1}xb^{-1})$ for every $x \in G$ is called a multi L-fuzzy middle coset of a multi L-fuzzy group A of the group G determined by the element $a, b \in G$.

2.12 Definition: Let A be a multi L-fuzzy subgroup of a group G, then for any $a \in G$, the multi L-pseudo fuzzy coset of a multi L-fuzzy subgroup A of the group G determined by the element $a \in G$, denoted by $(aA)^p$ and is defined as $(aA)^p(x) = p(a)A(x)$ for every $x \in G, p \in P$, where $P = \{p(a) / p(a) \in [0,1]\}$

2.13 Definition: Let A and B be any two multi L-fuzzy subgroups of a group G, then for any $a \in G$, the multi L-pseudo fuzzy double coset of multi L-fuzzy subgroups A and B of the group G determined by the element $a \in G$, denoted by $(AaB)^p$ and is defined as $(AaB)^p = ((aA)^p \cap (aB)^p)(x) = (aA)^p(x) \wedge (aB)^p(x)$ for every $x \in G, p \in P$, where $P = \{p(a) / p(a) \in [0,1]\}$.

3. PROPERTIES OF A MULTI L – FUZZY COSETS OF A MULTI L-FUZZY SUBGROUP

In this section, we discuss some of the properties of a multi L-fuzzy coset of a multi L-fuzzy subgroup of a group G.

3.1 Theorem: Let A be a multi L-fuzzy subgroup of a finite group G, then $O(A)/O(G)$.

Proof: Let A be a multi L-fuzzy subgroup of a finite group G with “e” as its identity element.

Clearly $H = \{x \in G / A(x) = A(e)\}$ is a subgroup of the group G. By Lagrange’s theorem $O(H) / O(G)$. Hence by the definition of the order of multi L-fuzzy subgroup of a group G, we have $O(A)/O(G)$.

3.2 Theorem: Let A be a multi L-fuzzy subgroup of a group G. The multi L-fuzzy coset aA of a multi L-fuzzy group A of the group G determined by the element $a \in G$ is a multi L-fuzzy subgroup of G if $A(y^{-1}a) \wedge A(a) = A(y^{-1}a)$.

Proof: Let A be a multi L-fuzzy subgroup of a group G and $A(a^{-1}y) \wedge A(y) = A(a^{-1}y)$.

Consider the multi L-fuzzy coset aA and for any $x, y \in G$,

$$\begin{aligned} aA(xy^{-1}) &= A(a^{-1}xy^{-1}) \\ &= A(a^{-1}xy^{-1}aa^{-1}) \\ &\geq A(a^{-1}x) \wedge A(y^{-1}aa^{-1}) \\ &\geq A(a^{-1}x) \wedge \{A(y^{-1}a) \wedge A(a^{-1})\} \\ &\geq A(a^{-1}x) \wedge A(y^{-1}a) \\ &= aA(x) \wedge aA(y). \end{aligned}$$

Hence, $aA(xy^{-1}) \geq aA(x) \wedge aA(y)$.

The multi L-fuzzy coset aA of a multi L-fuzzy group A of the group G determined by the element $a \in G$ is a multi L-fuzzy subgroup of G.

3.3 Theorem: If A is a multi L-fuzzy subgroup of a group G, then for any $a \in G$, the multi L-fuzzy middle coset aAa^{-1} of a multi L-fuzzy group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy subgroup of a group G.

Proof: Let A be a multi L-fuzzy subgroup of a group G and $a \in G$. for every $x, y \in G$, we have

$$\begin{aligned} (aAa^{-1})(xy^{-1}) &= A(a^{-1}xy^{-1}a), \\ &= A(a^{-1}xaa^{-1}y^{-1}a) \\ &= A((a^{-1}xa)(a^{-1}ya)^{-1}) \\ &\geq A(a^{-1}xa) \wedge A((a^{-1}ya)^{-1}) \\ &\geq A(a^{-1}xa) \wedge A(a^{-1}ya), \text{ since } A \text{ is a MLFS of } G \\ &= (aAa^{-1})(x) \wedge (aAa^{-1})(y) \end{aligned}$$

Therefore $(aAa^{-1})(xy^{-1}) \geq (aAa^{-1})(x) \wedge (aAa^{-1})(y)$.

Hence, aAa^{-1} is a multi L-fuzzy subgroup of a group G.

3.4 Theorem: If A is a multi L-fuzzy subgroup of a group G, and aAa^{-1} be a multi L-fuzzy middle coset of a multi L-fuzzy group A of the group G determined by the element $a \in G$, then $O(aAa^{-1}) = O(A)$, for any $a \in G$.

Proof: Let A be a multi L-fuzzy subgroup of a group G and $a \in G$. By Theorem 3.3, the fuzzy middle coset aAa^{-1} is a multi L-fuzzy subgroup of G. Further by the definition of a multi L-fuzzy middle coset of a group G. We have $(aAa^{-1})(x) = A(a^{-1}xa)$, for every $x \in G$.

Hence for any $a \in G$, A and aAa^{-1} are conjugate multi L-fuzzy subgroups of a group G as there exists $a \in G$ such that $(aAa^{-1})(x) = A(a^{-1}xa)$, for every $x \in G$. Hence, $O(aAa^{-1}) = O(A)$, for any $a \in G$.

3.5 Theorem: If A is a multi L-fuzzy subgroup of a group G. Then $xA = yA$, for x and $y \in G$ if and only if $A(x^{-1}y) = A(y^{-1}x) = A(e)$.

Proof: Let A be a multi L-fuzzy subgroup of a group G. Let $xA = yA$, for $x, y \in G$.

Then, $xA(x) = yA(x)$, and $xA(y) = yA(y)$, which implies that

$$A(x^{-1}x) = A(y^{-1}x), \text{ and } A(x^{-1}y) = A(y^{-1}y).$$

Hence $A(e) = A(y^{-1}x)$, and $A(x^{-1}y) = A(e)$.

Therefore $A(x^{-1}y) = A(y^{-1}x) = A(e)$.

Conversely, let $A(x^{-1}y) = A(y^{-1}x) = A(e)$, for x and $y \in G$.

For every $g \in G$ and we have,

$$\begin{aligned} xA(g) &= A(x^{-1}g) \\ &= A(x^{-1}yy^{-1}g) \\ &\geq A(x^{-1}y) \wedge A(y^{-1}g) \\ &= A(e) \wedge A(y^{-1}g) \\ &= A(y^{-1}g) \\ &= yA(g). \end{aligned}$$

Therefore, $xA(g) \geq yA(g)$ and,

$$\begin{aligned} yA(g) &= A(y^{-1}g) \\ &= A(y^{-1}xx^{-1}g) \\ &\geq A(y^{-1}x) \wedge A(x^{-1}g) \\ &= A(e) \wedge A(x^{-1}g) \\ &= A(x^{-1}g) \\ &= xA(g). \end{aligned}$$

Therefore, $yA(g) \geq xA(g)$

Hence, $xA(g) = yA(g)$ and g is arbitrary,

We get, $xA = yA$.

3.6 Theorem: If A is a multi L-fuzzy subgroup of a group G and $xA = yA$, for x and $y \in G$, then $A(x) = A(y)$.

Proof: Let A be a multi L-fuzzy subgroup of a group G and $xA = yA$, for x and $y \in G$.

Now,

$$\begin{aligned} A(x) &= A(yy^{-1}x) \\ &\geq A(y) \wedge A(y^{-1}x) \\ &= A(y) \wedge A(e), \text{ by Theorem 3.5} \\ &= A(y). \end{aligned}$$

Therefore $A(x) \geq A(y)$ and, $A(y) = A(xx^{-1}y)$
 $\geq A(x) \wedge A(x^{-1}y)$
 $= A(x) \wedge A(e)$, by Theorem 3.5
 $= A(x)$.

Therefore $A(y) \geq A(x)$
Hence, we get, $A(x) = A(y)$.

3.7 Theorem: If A be a multi L-fuzzy subgroup of a group G , then the multi L-pseudo fuzzy coset $(aA)^p$ is a multi L-fuzzy subgroup of a group G for every $a \in G$.

Proof: Let A be a multi L-fuzzy subgroup of a group G . for every $x, y \in G$, we have

$$\begin{aligned} \text{i.} \quad (aA)^p(xy) &= p(a) A(xy) \\ &\geq p(a) \{ A(x) \wedge A(y) \} \\ &= p(a)A(x) \wedge p(a) A(y) \\ &= (aA)^p(x) \wedge (aA)^p(y) \end{aligned}$$

Therefore, $(aA)^p(xy) \geq (aA)^p(x) \wedge (aA)^p(y)$

$$\begin{aligned} \text{ii.} \quad (aA)^p(x^{-1}) &= p(a) A(x^{-1}) \\ &= p(a) A(x) \\ &= (aA)^p(x) \end{aligned}$$

Therefore, $(aA)^p(x^{-1}) = (aA)^p(x)$.

Hence, $(aA)^p$ is a multi L-fuzzy subgroup of a group G for every $a \in G$.

3.8 Theorem: Let A and B be any two multi L-fuzzy subgroup of a group G , then the multi L-pseudo fuzzy double coset $(AaB)^p$ is a multi L-fuzzy subgroup of a group G for every $a \in G$.

Proof: Let A and B be any two multi L-fuzzy subgroup of a group G .

For every $x, y \in G$, we have

$$\begin{aligned} (aAB)^p(xy^{-1}) &= ((aA)^p \cap (aB)^p)(xy) \\ &= (aA)^p(xy) \wedge (aB)^p(xy) \\ &= p(a)A(xy^{-1}) \wedge p(a)B(xy^{-1}) \\ &\geq p(a) \{ A(x) \wedge A(y) \} \wedge p(a) \{ B(x) \wedge B(y) \} \\ &\geq \{ p(a)A(x) \wedge p(a) B(x) \} \wedge \{ p(a)A(y) \wedge p(a) B(y) \} \\ &= ((aA)^p \cap (aB)^p)(x) \wedge ((aA)^p \cap (aB)^p)(y) \\ &= (AaB)^p(x) \wedge (AaB)^p(y) \end{aligned}$$

That is, $(aAB)^p(xy^{-1}) \geq (AaB)^p(x) \wedge (AaB)^p(y)$.

Hence, $(aAB)^p$ is a multi L-fuzzy subgroup of G .

3.9 Theorem: Let A be a multi L-fuzzy normal subgroup of a group G . The multi L-fuzzy coset aA of a multi L-fuzzy normal sub group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy normal subgroup of G if $A(a^{-1}y) \wedge A(y) = A(a^{-1}y)$.

Proof: By Theorem 3.2, the multi L-fuzzy coset aA is a of a multi L-fuzzy normal group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy subgroup of G .

$$\begin{aligned} \text{Now,} \quad aA(xy) &= A(a^{-1}xy) \\ &= A(a^{-1}yx), \text{ since } A \text{ is a MLFNS of } G. \\ &= aA(yx) \\ aA(xy) &= aA(yx). \end{aligned}$$

Hence, the multi L-fuzzy coset aA of a multi L-fuzzy normal group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy normal subgroup of G .

3.10 Theorem: If A is a multi L-fuzzy normal subgroup of a group G , then the set $G/A = \{xA : x \in G\}$ is a group with the operation $(xA)(yA) = (xy)A$.

Proof: Let x and y in G , xA and yA in G/A .

Clearly, y^{-1} in G . Therefore, $y^{-1}A$ in G/A .

Now, $(xA)(y^{-1}A) = (xy^{-1})A$ in G/A .

Hence G/A is a group.

3.11 Theorem: If A be a multi L-fuzzy normal subgroup of a group G , then the multi L-pseudo fuzzy coset $(aA)^p$ of a multi L-fuzzy normal group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy normal subgroup of a group G for every $a \in G$.

Proof: By Theorem 3.7, the multi L-pseudo fuzzy coset $(aA)^p$ of a multi L-fuzzy normal sub group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy subgroup of a group G . For any $x, y \in G$,

$$\begin{aligned}(aA)^p(xy) &= p(a)A(xy) \\ &= p(a)A(yx), \text{ since } A \text{ is MLFNS of } G, \\ &= (aA)^p(yx). \\ (aA)^p(xy) &= (aA)^p(yx).\end{aligned}$$

Hence, the multi L-pseudo fuzzy coset $(aA)^p$ of a multi L-fuzzy normal group A of the group G determined by the element $a \in G$ is also a multi L-fuzzy normal subgroup of a group G for every $a \in G$.

REFERENCES

1. S. Abou-zaid: On fuzzy subnear rings and ideals, fuzzy sets and systems, 44, 139-148 (1991).
2. Haci Aktas: On fuzzy relation and fuzzy quotient groups, International Journal of computational cognition, Vol.2, No2, 71-79, (2004).
3. S.K. Bhakat and P. Das: Fuzzy ubalgebras of a universal algebra, Bull. Cal.Math.Soc, 85, 79-92 (1993).
4. Biswas.R, Fuzzy subgroups and anti fuzzy subgroups, Fuzzy Sets and Systems 35, 121 – 124, (1990).
5. J.A. Goguen: L-fuzzy sets, J.Math.Anal.Appl. 18, 145-174 (1967).
6. John N Mordeson and D.S. Malik: Fuzzy Commutative Algebra, World Scientific publishing. co.pvt.Ltd.
7. N.P.Mukherjee and P. Bhattacharya: Fuzzy normal subgroups and fuzzy cosets, Iinform.Sci 34 (1984), 225-239.
8. Sabu.S and Ramakrishnan.T.V, Multi-fuzzy sets, International Mathematical Forum, 50, 2471-2476, (2010)
9. A. Rosenfeld: Fuzzy groups, J.Math.Anal.Appl. 35, 512-517 (1971).
10. K.Sunderrajan,M.Suresh and R.Muthuraj, Commutative Multi L-fuzzy Subgroups, Acta Ciencia Indica Vol. XXXIX M.No.3,337-344 (2013).
11. U.M. Swamy and D. Viswanadha Raju: Algebraic fuzzy systems, Fuzzy sets and systems 41, 187-194 (1991).
12. L.A. Zadeh: Fuzzy sets, Inform and control, 8, 338-353 (1965).
13. Zhang Yue: Prime L-fuzzy ideals and Primary L-fuzzy ideals, Fuzzy sets and systems, 27, 345-350 (1988).

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2018. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]